ANSWERS 399

(c) It turns to liquid phase and then to vapour phase. The fusion and boiling points
are where the horizontal line on P-T diagram at the constant pressure of 10 atm
intersects the fusion and vaporisation curves.

(d) Itwill not exhibit any clear transition to the liquid phase, but will depart more and
more from ideal gas behaviour as its pressure increases.

Chapter 12

12.1 16 g per min

12.2 934dJ
12.4 264
12.5 16.9J

12.6 (a) 0.5 atm (b) zero (c) zero (assuming the gas to be ideal) (d) No, since the process
(called free expansion) is rapid and cannot be controlled. The intermediate states are
non-equilibrium states and do not satisfy the gas equation. In due course, the gas
does return to an equilibrium state.

12.7 15%, 3.1x10°J

12.8 25W
12.9 450J
12.10 104

Chapter 13
13.1 4x10*

13.3 (a) The dotted plot corresponds to ‘ideal’ gas behaviour; (b) T, > T,; (c) 0.26 J K1;
(d) No, 6.3 x 10° kg of H, would yield the same value

13.4 0.14 kg

13.5 5.3x10° m?

13.6 6.10x 102

13.7 (a) 6.2%102'J (b) 1.24x 10719J (©2.1%x1076J

13.8 Yes, according to Avogadro’s law. No, v___is largest for the lightest of the three gases;
neon.

13.9 2.52x10°K
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